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(3oLgdgLh®remo godm ool 603dnda)

Question 1
3&6)@00350[5 obbmqanonéo 305386368@0 830333636[} :
Select one:

a. 653096396 9thod Lobooemol gogegmmgdol boRdorg 8mzgdyem goégdmdn Lobsmemal gogé39emgdal
LoBdoég8g 30391330

b. Lobooremob gogzgemgdol boRdotrgl 3o 39m330

C. 608096396 b530mg800 Loboomol gogegemgdol LoRdotrg dmzgdnm goégdmdn Lobsmemol gogésgemgdel
LoBdog8g 30391330

Question 2

BQSBOB boo;;nd{gg@%{] @@6360@ odﬁo 83”83060'3@0 oo3®o 30[} ----- do(‘)omo@o
3060‘:60.

Select one:
a. 630

b. m&o

C. byoo

d. mobo

e. bodo

Question 3
60033@0 0300633@000 603000[}05360 boGoooQ)olJ boﬁdoég 80(4)330030 (c 60l bosooo@ob
boﬁdoég 30333330):

Select one:

Question 4
$83806)0(‘)00 COU 88@060: lJOGOCOQ)Ob GOQ)QU&)O (7)8006)00[) 8058@300), L)OGOG)Q)S
606)8(‘00@886[’ GO@QO'J 08 (7)8(*)6)00[) (73'3688@868@00 GOQ)L) 600(4)0

Select one:

True


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=c\sqrt{\epsilon\mu}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{1}{\sqrt{\epsilon\mu}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{c}{\sqrt{\epsilon\mu}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{\epsilon\mu}{c}
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False

Question 5

4933060h0d 07 J3060: Lobomemgl goohboo m&doge dnbgds. gogzgemgdeliol 3ol
0boloomgol (ommy&o mgoligdgde (0bhgégagergbses, ea3odizo), bmemm
60300096905Lc0b YO 0gEcddgrgdobol - 3356hNE0 (dmobmdds, godmlbboggds).
Select one:

True

False

Question 6

Lobomemol 0bhgblogmds 3tm3mezoymos:

Select one:

a. Bbeemence BogBoygto o6 (300l 3990l bowocob

b. gemgdénemo wodsbymmemdol gdhmeol bowooob 3ol

€. bmapme gargdhgere obegdpeeb 3ggdhereol bocgacool

d. gemgdiEnmo wsdsdmamdob 399hmeob boowob 30wkl

Question 7

™60 HOmEs 960l 3m3gegbhnemo, oy hoemmgdol godoms bbgomas:

Select one:
a. 06) Oé)ﬂb @080’)30@863@0 Qém%g
b. Q)oamgoqz’gbn@oo boﬁdoég%&
C. 06) Oé)ﬂb @080’)30@863@0 boﬁdoég%&
Question 8
33330(4)0(500 o0y 83@‘)60:
qmogéodeon@o 83[}360[) ngd@éBo, 336660@06 333@033 6o 3@360@ 60@0&60@00
Gomgqm bboggbo, 333@083 8300@ = oob%géo .
Select one:
True

False

Question 9

3833060600 o0y 38@0602 8600600(4) 03.)382)30 33(4)533 536)@0@000 830033@(4)03@
oq)ao@b (l)o@q:oob 33@0306)0 3600@3?)0, me)m d)o@q)ob 300506033 83@0306)[) =
(on)q)ob 036005(1)0.

Select one:

True
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Question 10
bosom@ob @ongéboo N ) 33@3601

Select one:

8. LoBaoxmalss o Bogaogfigiol BsBacms gbobs athsgadoneo YmogemdBggiol

b. Bageaggol BsBagms gdols athagadspogene Yhmageomgigogdol

€. Bogoragfigbol BxBoams zgdch gangdi@edagbopge gemegodgeol

d. gemgdieeBgBoggo doenmess oo Brgmaggiols BaBoams zgbols ymagmddgrgbol
Question 11

bm&3oemy&o oldgelool ogm&anemol mobobdoco, Lobosmemol hoemmol Logédol
393600 ----- .

Select one:

8. oBegds Bogemaggieb gsGmagghol 33Bbgbgamo

b. 26 afggemgds boBoeaemals Lofdathg

e e o D sy DR s

. 8i306con00 bobomanals bobgse

Question 12
ggaaoéod)oo 0y 33@060!

36038530 bbosgbob 60@0560 b@gbo 806@00&50[& 305386363@0b 30b8Q3om, 6(\038@08
o%éqagbo OOQ)QJOU boaédob 383306)86000, oao(l)ma 360330 80@0[)(4)0[) 30000@ bbo385b

439e038g bogergdoce.
Select one:

True

False

Question 13

3mmo6r0dgonmo hommmgdel Bggdololb doomgds 0bhgera3gergbizongmeo by&sma, oy
(')OQ)Q)SBO Bm@OéOSSBHQQQ _____

Select one:

a. bbgocoolbgs Lodéahyggddo

b. LodéhgggdBo, GmBangdo §860s6 9e0Bsbgomst 4D 056 gyobgl
C. P00g6mBatomd bodthgggddo

d. 960 Lodéhgg3o

Question 14


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=45^\circ
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bosooo@gl), émoaqmb Sq)gdoﬁnqm 38d®m€mb 6bg3ob bobé@ss 806‘36338@@03,

363b608mq) 033@360 o 033@063@360 yg9emo 80306)0)‘3@35000 Heemod, 3600@360 ---
-- boSom@g.

Select one:

a. B6a0go00 3memotoBgdyemo

b. 65Bocmmdrng 3cemotrodgdnemo
C. 3memoodgdymo

d. 3n6gd0g0

Question 15

Lobomemgl, Gm3emob gemgdhtneme ggdhmEalb Gbggol Lodbhyg Ngemgemoes, gBmogds
----- Lobooremg.

Select one:
a. 605'0@006603 300@0603063@0
b. gé)osﬂ3°@ 3(")@0608063@0
C. 636366)030
d. 06)0300@06)03863@0
Question 16
ggaaoéod)oo Y 33@060! 606)33(‘030 806 3399eo 30806003@360[} bosom@ob 6o 30@0[}
80@056)0[) y3g9emo 38bod@m 30300/0003@86000 - bosom@ob 8066830 8800@860.
Select one:
True
False
Question 17
30633@0 ©o 380063 606)&300[5 obbm@:]dméo 806)@00350[& 30538636@3600 1 oo N2,
38b03030b~>@. 603300030 38@03060@06 bén@o 06)833@0b 3003@860 a3od3b, 6)0’)301

Select one:
a. 1 = Ma
b. 1 = Ta
c. N1 < Na
d. M1<ngy
Question 18

30633@0 (B 330063 30633(‘0[) oBme)U(buéo 806@0@350[} 30533636@8600 ny (D) na ,
33[)06030[)0@. bén@o 0(4)3 33@0[} 3@36‘3@0 330053 8060[}03@36360 80300[)053@36000:

Select one:
: ni
N s;‘naﬂim


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={n_1}>{n_2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={n_1}={n_2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={n_1}<{n_2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={n_1}{\le}{n_2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=sin{\alpha_o}{\le}{\frac{n_1}{n_2}}
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3 1
b, SiNC, < -

' 1
c Sinoyg < w
ne

_ SNy, = s

d

Question 19

Loboomemals bbo3o aoqmqmb m300 3360@ bo 3@880@ d 336)030 8068800@06 m3o®o 336)0@
dghoce 3336003 3o gdmdo. 3 dgdmbgggedo LodoGmemosbos godmbsbymmgds (¥ séal
bbogol coo39d0l 3yoby, 8 - 3o0o(hgbol 3mbg):

Select one:

a.a>j

b, ¥ < ,f'J-]

ca=/j

d. ¥ — O

Question 20

™60 30038(4)8603@0 (i)o@qmb 33@@36000 30@863@ 06636033636803@ bgéom%g
0bhgbLogmdal 8ogladndgdo oedBotrgds Bgtdomngddo, Losy bgemoms Lbgosmas hmemos
(A ool bogédgs , 11 = 0,+1,+2, DK

Select one:

- 2m

- (2m + 1)

- (2m 4+ 1)

- (2m 4 1)

a.
b.
Gt

d.

b | o | e b

Question 21

™60 3(’038(4)86(1)3@0 OOQ)QOU 33@@36000 30@863@ 06(1)86033636303@ bnéom%g
06636b03m60b 3060333330 @003306)860 636)@0@8630, onoB b3@oooo bb30mbo @mqmo
(A ool Logédgo , T = 0, +1, +2, )

Select one:

(2m+ 1)
- 2m

a.

b.
- 2m

(2m+ 1)

C.

A PR [ Y ST

d.

Question 22

0‘3680[’ B@an, 80660@0 (")6) 8(")8@836(‘0 6)080[) 06(!)86)0386)86803@ aodboanab (GOG)SQ)
Beocml) Beotrols 3o8moliobgds amEdnemoc (L 060l 356docmo §6omlo o 936506L
dmérol, P - 3obdocmo §60emgdl dméob):

Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=sin{\alpha_o}\le{\frac{1}{n_1}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=sin{\alpha_o}\le{\frac{1}{n_2}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=sin{\alpha_o}\le{\frac{n_2}{n_1}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\alpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\beta
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\alpha>\beta
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\alpha<\beta
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\alpha=\beta
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\alpha \mapsto \infty
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\lambda
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m=0,\pm1,\pm2,...
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{\lambda}{2}\cdot2m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{\lambda}{3}\cdot(2m+1)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{\lambda}{4}\cdot(2m+1)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{\lambda}{2}\cdot(2m+1)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\lambda
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m=0,\pm1,\pm2,...
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{\lambda}{2}\cdot(2m+1)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{\lambda}{3}\cdot2m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{\lambda}{2}\cdot2m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{\lambda}{3}\cdot(2m+1)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=L
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=p
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Al = £
a. p
C. A
4 Al = Lp)
Question 23

6030003(4)32)030 boSoooQ)ob Booosoodaob 83@38"@ 80800[)3@0 boGoooq)ob 05086b03mbo:
Select one:

a. I3ob0ogd0
b. 08&cogd0

C. 0(33cmg0d 3960mEYMO©
d. o6& oj3gemgdo

Question 24

Lobom MOl J:sbmgdol (39396~ oddgél) 396mbol 09bobdoce Lobomemal
0bhgblogmas:

Select one:

b. SdBBMGSGBO\)@néO 305(‘)500) 086)@02)0

C. o6& 083Q)02>0
d. 033@860 386)0«)@'3@0 305005000

Question 25

038(4)0[) OO@QOL’ 'JO&&)C’O'J bbossbb ‘)683@‘)3[’ bban@nlj 88@0306)0”.
Select one:
True

False

Question 26
360[)@)0@0[& 606@0@350[} 303336883@00 n, b(‘)g@o 300@06030300[) 3300530 Yo 7
Béonb@s@ob 3060’)60[) moGobaoQ:

Select one:

a. t.gﬁ'ga = n
b. Sinw, = N
c. Sinp, =1
d. Po=T

Question 27


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\Delta{l}=\frac{L\lambda}{p}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\Delta{l}=\frac{p \lambda}{L}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\Delta{l}=\frac{Lp}{\lambda}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\Delta{l}=Lp\lambda
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\varphi_o
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=tg \varphi_o=n
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=sin\varphi_o=n
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=sin\varphi_o=1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\varphi_o=n

3gnLodadgor goblodrmgtgdgdo geaBabgol:

hoeo@ob bogédg Answer 1| Choose...
080’3600303ng0 Answer 2| Choose...
3960 Answer 3| choose-

L3gdtyddgtho  Answer 4| Choose...
Question 28

333[}06&3300 806b08q> 36)36360 3&)0030630’)[} :

Lef Lef Lef Lol

C)OQJQOU boﬁdaég Answer 1‘ Choose...
b3gdhemBanto  Answer 2| Ooose-
3336mbob 9939960 Answer 3 SO

3960 Answer 4‘ Choose...
Question 29

Lef LefLef Lol

30633@0 6068800[) o?)bco@ud)uéo 806@0@&50[} 3&5336363@00 5, 3300(4)3 800’00300[)0 -
pai |

6. 3obLoBmgerge Lobsmemol LoBdotrggool ayotomds va, o7 Lobomemol LoRdoérg
3o6rggem 3a6rgdmdo ool U1, 3geatagde - V2 (ggemdo BaBgrger Bbraemme Gopgbgo, 3og.
1,234).

Answer:‘

Question 30

0663603363680’3@ bnéom%g 9 36)060[& Bsﬁ@éo@OG 38-2 aodboanaobm:;ob Hoew@omo
bgqmmo bbsomboo 3000 A° (osabd)égao). 806[)03@36300 (l)oQ)q)olj boaé)dg
963LHE 939830 (39em38o BoBgérgen omemmeo osbgo, 3og. 1,234).

Answer:‘

Question 31
™m0 8063300[) go3ymag 83@0306[) 93990 Lobsoemal bbogo. 93930l 3ymby

060 30 géronlo, gototgbol gotmoome dokggbgdgmoas 2.
3o6LoBmgtrge godotgbol 3mmbol Lobylo (g9emde Bobgergen dbmemmeo
éo(3bgo, dog. 1,234).

Answer:‘

Question 32
2503 bobdob 60300036)36030 Lobooemol amOSmdaobob Qoeganqm Lobooremol

0bhgbLogmds e-396 d99(30600. Gobo He00d 3000bogdol 3mmga30(3096¢)0
(39em3o Bobgérgon dbmemmeo Go(sbgo, dog. 1,234).

Answer:‘


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{v_1}{v_2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v_2

Question 33
300@06030@0060[)0 Qo 060@080600(4)01.) Qaédabb dmol 3’300':)8 60°

86)0@’3[}00. 8061.)08@36)300 oGo@oso(i)méfao 8ob~3@o Lobooemals

OEOSGUOSMBOU (L‘-) Qo 300@06030@00630 8°bUQ’° boGoooQ)ob
I

obhgBlogemdel (IP) cysthomds Tr (ggemBo BsBggen Bbenamence Gopban, 8aa.
1.234).

Answer:l


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=(I_A)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=(I_P)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{I_A}{I_P}

